O, W »| B| B O N| U
| U A N N N > | T
— D M AT | AT A1 I
M g o9 g g g [ SN
[ M| =Z prd Z Z | A W
r~ AlH > > > | O
(. O =S
%) Pl gl a0 o
@) Z|m|m| £|3
=< > A A m
> m m S
M > c c :
| Z 3
— > U =
Q> s|Aa|9
T\ Slc|lal d
- C | Z
m L -
O
2
(@A
o
I 151,20(153.60153.60| 2.40 | Studnia zelbetowa ©@ 1200/D400 -wg rys. nr 3.1
W p0383 _
(.A) n
>
o
)
»
o
o
O
= S
| 150.99153.39153.39 2.40 | Studnia PCV 0 425/D400 -wg rys. nr 3.2
W [14.06 | -
A I
n
0
o
n
0
o
P 150.66(153.06[153.06| 2.40 | wodo DN 32,, Rz.d = 15146 m np.m —(przypuszczalha rzedna)
(] Q
| 130 ~ 150.64[153.04[153.04| 2,40 | Studnia PCV © 425/D400 -wg rys. nr 3.2
W [36.02
Ul I
o
R
o
R
0
o S
I 150.33152.73152.73 2.40 | Studnia PCV 0 4235/D400 -wg rys. nr 3.2
W [5223| -
o I
m
©
n
©
150.19[152.45152.45 226 | Gaz DN 32,, Rzd. = 150.85 m n,p.m -(przypuszczalha rzedna)
7.27
o
= S
I 150.12(152.31152.31| 219 | Studnia zelbetowa © 1200/D400 -wg rys. nr 3.1
W [7342
~ I
2
»
O
149,96/152.18[152.18| 2,22 | woda DN 100,, Rz.d. = 15058 m n.p.m —(przypuszczalha rzedna)
36.03 149,93152.16[152.16| 223 | woda DN 100,, Rz.d. = 15056 m np.m —(przypuszczalha rzednad
35.06
s
'S
o
? 149.47|151.78[151.78| 2.31 tel,, Rz.d. = 13108 m npm —(przypuszczalha rzecdnad
18.99 Il
©
no
3 [149.36/151.69(151.69| 233 | woda DN 32,, Rz.d = 15009 m npm —(przypuszczalha rzedna)
15.40 N
-
<
O
|
c
N\
2]
=z
co
A\
148,99151.39(151.39| 2.40 Gaz DN 32,, Rzd. = 149.79 m np.m —-(przypuszczalna rzedna)
v
- 251 '\DD
I ~ 148.921151.33[151.33] 2.41 | Studnia PCV 0 425/D400 -wg rys. nr 3.2
W [114.84] -
09) I
n
g 148.86/151.27(151.27| 2.41 wodo. DN 32,, Rz.d = 149,67 m npm —(przypuszczalha rzedno
%)
20.42
n
W
®
0
o
o N
I 148.53150.95(150.95| 2.42 | Studnia PCV 0 425/D400 -wg rys. nr 3.2
W 138,73 -
NS I
n
al
2
n
a
2
&
) S S
| 148,12(150.55[150.55| 2.43 | Studnia zelbetowa @ 1200/D400 -wg rys. nr 3.1
B 6464 -
© I
n
E 148,07|150.51|150.51| 2.43 | wodo DN 32,, Rz.d = 14891 m n.,p.m—(przypuszczalha rzedna)
1897 |9
n
n
n
a
z
] N )
| 147.83150.26150.26| 243 | Studnia PCV 0 425/D400 -wg rys. nr 3.2
-~ [187.09 -
= I
o
N
ul
o
N
al
8 147.75150,10(150.10| 2.34 woda DN 32,, Rz.d = 14850 m npm —(przypuszczalha rzednad
(] N
| ~ 147.74{150.08(150.08| 2.34 | Studnla zelbetowa © 1200/D400 -wg rys. nr 3.1
N 203.84
no
11100
s¢€FE f DT o
2122g|2Eg| 5| BT 5
S EilglsRls o=
o | N o o = N
S g5 35 2 =
el (= Q| o o m
= - S22 = O
= (@] — L |8 ) — E
> 3Ima|3 =
28| n|8 | oo W O =
S 5|2 5|3 |? PaRs = =
SIN|QIN|B || 3550 ™
So < gl S o~
g&%&a-g'sgam c
=3 =) 2.=0.
Sla Ngle <z 88 <
(%) ; 8 ; 919 3< O
£ @ =3
Rgl2e 3= =
s B = 1wy &= —
- =] 5| &% TN
2 == oS o B
=9 ~ & g2 =
Slsi a3 8 8¢ <9
NIROIE Pl @32 (@) =.
= Sli e 2F |8 c
2 2 ol % ||§ I ||o
oL 1ol 1813 %355 9|2
- -0 =
o § oolze N
8_ o 8 a o O o% J3 =
S N ? TV =30 =.
T, N o N oo ® Q o= =
@ < SN gz g<dNBI @
9 o 53200 b=
(2]
3 $oa3F
= 22935
v ® |z gxs22
3 = I\JSSga
) Q q ggé o
Z |0 3¥e S
S N 88 %
N : 88 &
g R o

cv—U (-l




